SPPU-TE-COMP-CONTENT - KSKA Git

“Total No. of Questions : 4] SEAT

163601-27
P T.E. (Computer Engineering) (Insem)
b ?-:fi._j_':f,;%s{EMS PROGRAMMING AND OPERATING SYSTEM
Uk (2019 Pattern ) (Semester - 1) (310243)

[Max. Marks : 30

T i

Ls.-must be dmwn wherever necessary.

-,-'- e

| mdlcate full marks.

S L7 s raw dand cxpldin rowcenart ol Pa assembler with

i . e s .
i - .- .
; | - ot
] e g 1 =, \ - i . .'_' ;

= [ : “ - i SR . 1 =k
H L } l B ’
b A u 1 Jal » ; A o 4 i

- . B o

’ . - r -l = .

- ¥ - f -
e 4 i
- -3 - Yy - j e = u .
s i ol i
. i L =
- ' Ik p ¥ l-l"

- 5 ¥ u ] H O 'y

— ) =2 k

_y # C - & - L 4 -
- i " G - 5
| }
i
o . ] 3 : * 1 5

J

‘I—d-.

J;;

; '.:_ F - S—— = o i o » . . — - % 3 - — s 1 — - J W r 4 o
ERIBRIBATY.TRRERLG) FE &4 AT NTYOMWAA () hT j][ l ' Ill|
A SA AT 'Y ; . L T 7% | . ! 3 L s JR AR E2 1 1R = | w5 % ¥ B E_J : a
A W : ; . e "y - - o - ; e . -_ - $ ot . oo -']-.
- ! e ] : o . ERE ol
1 . ’ - . = e . . : - . " — . i - = K r . N - - H b 5 r'|'\-_.I|""
| . ! " = i ! - - ol ¢ ’ T n a5 . i i@ . ] B - : = - F 3 %\ I g
E 1 -.1- r*-- - B 1 = 1] # ; 1 y :a y i i - | = | " £l : | ¥ | .,: @l ¥ i 1 ’ L i i . ¥ & L '|I . = e y r?}
| [ i . I . = | i i i el
' 2 4% ) 1 - 5 " . - id 1 L < ¥ it LD 2 i ! . N L )y b L - - w I ™ W . T-" b""lr-‘l 5,
- - " - -_— 'i.
"

'y o B . - i ' ’ i il 4 .-"- E [ » . - ] i .-
A N L Y - _. -:. 3 - L . ; L = F y ' - - F b 0w L= I. " 'R r B . .'. '-- r--- I|I- "|'r ";I' F.-.' . ‘1



SPPU—TE—COME—CONTENT — KSKA Git

\}’/ Explmn the Phdydf Compiler and their output with an example.[8]

Defm" macro. What are the ldv..ml 125 of 9/010 facility? How they
¢ different from function. '
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OR

What is the use of AIF and AGO pseudo-op in macro? Explain macro

the help of suitable example.

8]

expdnsmn wuh ,posmonal parameter with

. - .‘-r\-h‘h

b) ,xplaln e“\concept of single pass Macro processor with example.

' ple»tpr’macno calls within the macro. 7]
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